Algebra — Problems

1. Simplify the following expressions and eliminate all negative exponents where appropriate:
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2. Simplify and collect like terms:

(a) 3v180 + 4v/45 — 7v/84 4+ /189 — 21/245
(b) ﬁ(wm- 8\/ﬁ+3\/ﬁ>

(c) (2\/5 + 5\/§> (2\/3 — 5\/§>

3. Simplify:

(a) (z+1)(z—2)+ (z—1)(z+1)(z —3) — 2z(2* — 5z + 8)
(a —b)(2a+b) + 3b(b—a)
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4. Simplify the expression by rationalizing the denominator:
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5. Simplify the following expressions:
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6. Solve the following systems of equations:

(a) y=22+4 —-3=u.
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(b) bx+2y=2 , 4dax+y=10.
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(c) y:§—5x , 2y +10x = 3.



